Name: Answer Ke¥ Class #:_ OQ

SECTION 9.5: Expressions Containing Several Radical Terms (p. 698 — 705)
O Like radicals (p. 698)
0 Adding and subtracting radical expressions (p. 698)
0 Product and quotients of two or more radical terms (p. 699)
0 Negative rational exponents (p. 679)

Simplify each of the following rational expressions.

L VI +6vZ-2vZ = V3 + (6-2)V2' 2. VI -(7-vZ)+vE =743 -zt

e H‘WJ =93 - 33
oR =33 Ve
=5 8 e {75

3. V3 +V27 4. 2V x +5x+4¥Vx -3

=3 + 39 =a¥x "+ HYx + 5x-3

=3 s VA = (2+4)VYx + 5x -3
. Wy ey r5x -3
{4

OPTIONAL CHALLENGE PROBLEMS: Simplify the expressions below

5. V2 (V4 -2V32) 6. aZ—3——
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j(a’—S) (a*-3)
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a~ -3

Ya%-3
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(a —2)(a +2)
a*-3%
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SECTION 9.6: Solving Radical Equations (p. 707 — 715)

0 Radical equations (p. 707)

0 The Principle of Powers: If a = b, then a™ = b™ for any exponent n (p. 707)
[0 Check for extraneous solutions to radical equations (p. 707)

L] To solve an equation with a radical term (p. 709)

O To solve an equation with two or more radical terms (p- 710)

Solve the following equations for the unknown variable using either:
Method 1: Algebraic Techniques
Method 2: Graphical Techniques
In either case, be sure to
> Identify each step you take in the solution.

» EXPLAIN HOW YOUR STEPS RELATE TO THE ORDER OF
OPERATION RULES

1 H
“
1. Visx =3 = ( 15 % 5 = 3

2. 5¥5x—3-2=13 = 5 i/|5x-3 = 15
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Ciass |9 HCmOloo*"/ Problem &
Lets solve the alﬂebmic equedhon

syisx -3 -~ = I3

so, we will graph botn

US‘-"j ovr 3rclphi(al methoel . To do
Hro  left-hanel  @ncl r.~jh+~hqnd sicle . Le+

9. = 5‘\/!5){"3 =
j,_: i3 8‘= 5'\1'5‘)(—3 ":2

4

/

@

»

nN

N

we "F\no( “+he Po.n+ of intersechon between Curves y, qv\d 32.

We see this  occurs a+

(0.8 ,13)

1  ovur soluhen

The Hfest - coorclinatc [ff—' g = ]
S
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3. WYx=2-7=-4 =D ~/x-2 = 3
B a

5 () -

. x-2 = 9

4. 3+V5—x =x =

= (x-4):(x-1) =0

= (x-4)=6 o0& X~ = O
= \X = & \ E X ¥ ‘

exYraneous

solution
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Class 18 Handout, Problem 3
R |
Lets solve he ecivahon \/x—-g - 7 M- /-l Ushg our

3mph:ca| wmethod. To  do Ahis,  we led

J,=W—7

f= -
We amph both of hee curves on He axis below .

/

e S agine
ol

J=x-2a" -7

Lets ‘F\no\ +he Po,n+ of ntersechion bethoween ceurves j, and Yz -

We see  ~this  milersechon  OCCUrS a+

{11, =4)

The solihor to oyr @C(\Jcmm 15 He Nesr  coorclinede iX"'ii \



C\CLSS ‘8 HQnOIOU‘i’, Prob)em H
To solve The equa’hoo in -his Problem, ve

j‘ = B 4 —\'5 - X (mﬁm jeft+ —hand side)

{ expression o0 rﬂh’r*hand swele )

so+

§= ¥

We, Geign both of +hese funchons on +he aXis below

D

j;=3+‘\/\5“x 232’;)(

o

Kb

lo solve ovr eqoc&hof\
sy
3+ 5-x'" = X

we locate “he Po\n'}—O‘(' mtersechon  at ("'/“l), The

1> e ast - coord\nate ‘ K= L‘l o

Solvhon P our ec{ua‘hon



Name: Ans\uer KQ\II Class #: 0
|

)
fukk

3
5 V3y+6+7=8 = 3\|.j+()

- (;3\1—;\:1—::‘!>3 - 13

=) '33 ‘g = |

= Tj: Ry l

OPTIONAL CHALLENGE PROBLEMS: Solve the following equations for the unknown variable:

6. Vax=3=2+32x-5

o2 _Bx+tl = [(,~(-2>< -5)

2 2 -
= (‘\7‘1)(-3 ) = (2 + N2x -5 ) -
= Ay 8> 4 = 32x - 80

= {Yx -3 = (2 +\!EZ?§)-(2+J?>T-?)
4+ ‘\\]2x-5 + d%-5

= L\x’)L ~Haw g =0

= Hx-3
=3 Y. i =me #21 )= B

= %3 = J¢ =] & Ll'\!Zx—fS
= 4. (x-3)(x-F)=0

= Ix-2 = 4 ~2x-5 = yedTw B8 CARSFE0

S (2x-2)" = (q‘\f{;?)i S |x=3) er X

/ i
. )’1 Check: X=3 y3-3 =Nq =2+Y 6-1

i i . ‘ P A4 J
=y Yx - Bx +H 1 - (2 | gy
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Class I8 Handoot, Problem £
1
Lets scolve 4he ec,va‘hon ‘\/Hx-'S = ool ¥ ’\/QX'S Using
ovr 3rqphlca\ me‘hod, We set

4 = \/‘lx—s

anel Sra‘;h 4hese covveS on 4k axts be low

- j}z Qr \IQX'S

Que soluhdas oOccer at e P°"‘+ of  In¥ersechons

(3, 3) ondl (%,5)

The  {s+-coorddnates of ~+hese.  P.0.T. gven by

X=3 Cncd ﬁ



Name:

7. Vx+2+V3x+4=2

5wz = g e
S rry R PO ey

5 X+2 = (z-m)-(z—m)
= Wkz = H -‘lm"f (3% +4)
= X+d = 3% +8—‘1m

S —2% =6 = =4 qfzxey’

= Jdw &L = H e

3x+Y

8. Véx+7—-43x+3=1

|+ \]3x+3‘

2

(I+m)

) Cx +7

= (Vora') =

=) Gx +3F = (\ + \13)(-\'3 )(‘ 1"43)(43)

= ex+F = | * ;2-\]3~><+5 ¢ Ix+3
= Cx*F = 3Bx+ 4 + 2 {3x43
= 3x 43 = ax]3x+3‘

Chec: X371 oAb L AU = NN
= 3

Class #
%= (Zrr2' & Csau 21+ 22 Y

=
P
= (x+3) = (2- \/’3_;::)
o (x+3)(xr3) = M (3D
|
= o tbx +v4 = 12 x + 1t
=) )C"()X -+ = ©
= (x-7) (x+)=0
%<9 = oR X+l =0
=) x7(7- o \X=-1l
Ex¥ancold
sclvhon
-———ﬁ 2
L (3x+3) = (Q.\/3x+3)
= (3x+3)(3x43) = 4 (3x+3)
;_qu1+,8)<+q:|2x+ll

ws By b <8 = ©

= 3.6 +2x -1) TO

= 3. (3x-1)-(x) =o
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Class 18 HandosA | Problem 7
Let's solve e a\j@brmc equahon

Ax+z2 o+ Y3x+u =2

To do So, we jraPV‘

sep ovctk\:j S'K‘H”lv\j

= '\/-_;(T+ 3% +Y
2 7 A

-1 0 | )

We see —the Jwo curve

Tie fhrsd coor dwedte ot ™hes ;)O.f\4~

l=-1

S the So)t)hoq we desmwed-

4

J

He left-nand side and v.‘ﬂyﬂ’- haad siclc

+ 324

nkcsect ot point (-1,2).



Class 18 Hanolo(ﬂ'/ Peoblem 8

To Find Ane soluhm +o equa’ﬂm vV 6x +7 '\/3x+3 =1

= n ight h sicle
W e 3¢th +He Left-hane{ side and ij andl

= 1

fj)—: \/6Y+7 ’\/3x*3‘ and fj-z’

on He axts below .

T VE

ot

The “Hwo curves inttrsect o  ponts

('li 1) and (é /1)

Corms‘)m\d \f\é +v svluhens

A—_——lx:_:)_‘ and —)y:é ]



